MIAMI-DADE MIAMI-DADE COUNTY

COUNTY ‘ PRODUCT CONTROL SECTION
DEPARTMENT OF PERMITTING, ENVIRONMENT, AND REGULATORY 11805 SW 26 Street, Room 208
AFFAIRS (PERA) Miami, Florida 33175-2474
BOARD AND CODE ADMINISTRATION DIVISION T (786) 315-2590  F (786) 315-2599
NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/pera/
Rollac Shutters of Texas, Inc.

5331 W. Orange Street

Pearland, TX 77581

Scoprk:

This NOA is being issued under the applicable rules and regulations governing the use of construction
malerials. The documentation submitted has been reviewed and accepted by Miami-Dade County PERA-
Product Control Section to be used in Miami Dade County and other areas where allowed by the Anthority

. Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Section (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right
to have this product or material tested for quality assurance purposes. If this product or material fails to
perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may
immediately revoke, modify, or suspend the use of such product or material within their jurisdiction. PERA
reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product Control
Section that this product or material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: RLL-4 Slat Extruded Aluminum Roll-Up Shutter - L.ML.L

APPROVAL DOCUMENT: Drawing No. 12-038, titled “RLL-4 Slat Roll-Up Shutter”, prepared by
Tilteco, Inc., sheets 1 through 13 of 13 (including sheet 1A), dated 02/17/2012, signed and sealed by Walter
A. Tillit, Jr., P.E., bearing the Miami-Dade County Product Control revision stamp with the Notice of
Acceptance number and expiration date by the Miami-Dade County Product Control Section.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state, the
following statement: "Miami-Dade County Product Control Approved” and NOA number, per TAS-201,
TAS-202, and TAS-203, unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of
any product, for sales, advertising or any other purposes shall automatically terminate this NOA. F ailure to
comply with any section of this NOA shall be cause for termination and removal of NOA.
ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed
by the expiration date may be dlsplayed in advertising literature. If any portlon of the NOA is displayed, then
it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 09-0303.29 and consists of this page 1 and evidence page E-1, as well as approval -
document mentioned above.

The submitted documentation was reviewed by Carles M. Utrera, P.E.

NOA No. 12-0315.16

, Expiration Date: May 26, 2013

2 Approval Date; June 14, 2012
26 /ot [29!

Page 1



Rollac Shutters of Texas, Inc.

NOTICE OF ACCEPTANCE: _ EVIDENCE SUBMITTED

A. DRAWINGS
1. Drawing No. 12-038, titled “RLI1.-4 Slat Roll-Up Shutter”, prepared by Tilteco, Inc.,
sheets 1 through 13 of 13 (including sheet 1A), dated 02/17/2012, signed and sealed
by Walter A. Tillit, Jr., P.E.

B. TESTS “Submitted under NOA # 09-0303.29”
1. Test reports on 1) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
4) Tensile Test per ASTM B557-06,
along with marked-up drawings and installation diagram of Series RLL-4 Extruded
Aluminum Roll up Shutter, prepared by Fenestration Testing Laboratory, Inc., Test
Report No. FTL # 5851, dated 02/19/2009, signed and sealed by Carlos S. Rionda,
P.E.

C.  CALCULATIONS “Submitted under NOA # 09-0303.29”
1. 2007 FBC revision calculations of RLL-4 Slat Roll-up Shutters, prepared Tilteco, Inc.,
sheets 1 through 128 of 128, dated 06/29/2009, signed and sealed by Walter A. Tillit,
Jr., P.E.

D. QUALITY ASSURANCE
1. Miami-Dade Department of Permitting, Environment, and Regulatory Affairs (PERA)

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS
1. Statement letter of code conformance to 2010 FBC issued by Tilteco, Inc., dated
03/13/2012, signed and sealed by Walter A. Tillit, Jr. P.E.

“Submitted under NOA # 09-0303.29”

2. No financial interest letter issued by Tilteco, Inc., dated 07/15/2009, signed and sealed
by Walter A. Tillit Jr., P.E.

26 0:/7—"’2

{Carlos M. Utrera, P.E.
Product Control Examiner
NOA No. 12-0315.16
Expiration Date: May 26, 2013
Approval Date: June 14, 2012



 NOTES:

1.

ROLL—UP SHUTTER SHOWN ON THIS PRODUCT APPROVAL DOCUMENT {P.A.D.) HAS BEEN VERIFIED FCR CODE
COMPLIANCE IN ACCORDANCE WITH THE 2007 & 201G EDITIONS OF THE FLORIDA BUILDING CODE. THIS
ROLL-UP SHUTTER MAY BE INSTALLED AT HIGH VELOCITY HURRICANE ZONES (MIAMI—DADE/BROWARD COUNTIES).
DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTIONS 1620 OF THE ABOVE MENTIONED CODES, USING
ASCE 7--05 STANDARD FOR INSTALLATIONS UNDER 2007 FBC & ASCE 7-10 FOR INSTALLATIONS UNDER 2010

FBC Aal\ClDSS_ll:mIi[Lj l}igT EXCEED THE MAXIMUM {A.S.D.) DESIGN PRESSURE RATINGS IMDICATED ON SHEETS
5 6

IN ORDER TO VERIFY THE ABOVE CONDITION, ULTIMATE DESIGN WIND LOADS DETERMINED PER ASCE 7-10 SHALL

BE FIRST REDUCED TO A.S.D. DESIGN WIND LOADS BY MULTIPLYING THEM BY 0.8 IN ORDER TO COMPARE THESE
W/ MAX. {AS.D.) DESIGN PRESSURE RATINGS INDICATED ON SHEETS 5, 6 & 8 THRU 13,

IN ORDER TO VERIFY THAT COMPONENTS AND ANCHORS ON THIS P.A.D. AS TESTED WERE NOT OVER STRESSED,
A 33% INCREASE [N ALLOWABLE STRESS FOR WIND LOADS WAS NOT USED IN THEIR ANALYSIS.
FASTENERS SPACING INTO WOOD HAS BEEN DETERMINED IN ACCORDANCE WITH N.D.S. 2005.

ROLL-UP SHUTTER’S ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE
WITH SECTION 1626 OF THE ABOVE MENTIONED COBE AS PER TAS-—201, 202 & 203 PROTOCOLS, AS PER
HURRICANE TESTING LAB, REPORTS # 0187-0408-99, 0187-0423-99, 0187-0413-99, 0187-0414—99,

. ALL ALUMINUM EXTRUSIONS SHALL BE ALUMINUM ASSOCIATION 6083-T5 ALLQY & TEMPER

(UNLESS OTHERWISE NOTED).

ALL SCREWS TQ BE STAINLESS STEEL 304 CR 316 AIS| SERIES OR CORROSION RESISTANT COATED CARBON
STEEL AS PER DIN 50018 WiTH 50 ksi YIELD STRENGTH AND 90 ksl TENSILE STRENGTH.

ALL TEK SCREWS SHALL BE AS MANUFACTURED BY ITW BUILDEX, INC, & SHALL COMPLY W/ FLORIDA BUILDING
CODE SECTION 2411.3.3.4.

. BOLTS TO BE ASTM A-307 GALVANIZED STEEL OR AIS| 304 SERIES STAINLESS STEEL, WITH 36 ksi MINIMUM

YIELD STRENGTH.

. STORM BARS AT FLOOR AND CEILING MOUNTING INSTALLATIONS MAY BE REMOVABLE AT NON HURRICANE

CONDITIONS. HOWEVER, EACH STORM BAR SHALL BEAR A PERMANENT LABEL IN A VISIBLE PLACE WITH A
WARNING NOTE INSTRUCTING THE TENANT OR OWNER THAT STORM BARS MUST BE INSTALLED WITH

CORRESPONDING HARDWARE DURING PERIODS CF HURRICANE WARNING AND THAT ROLL UP SHUTTERS WILL NOT
OFFER HURRICANE PROTECTION UNLESS ALL STORM BAR ARE INSTALLED AS DIRECTED.

. ANCHORS TO WALL FOR SIDE RAILS & BOX CONNECTION SHALL BE AS FOLLOWS {UNLESS OTHERWISE NOTED):

(A) TO EXISTING POURED CONCRETE (Min. fc=3192 psi):
- 1/4"¢ TAPCON ANCHORS, AS MANUFACTURED BY ITW BUILDEX, INC.

NOTES:
A1} MINIMUM EMBEDMENT OF TAPCON ANCHORS INTO POURED CONCRETE IS 1 3/4". NO EMBEDMENT INTO
STUCCO SHALL BE CONSIDERED AS PART OF THE REQUIRED EMBEDMENT.

A.2) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE EXISTING

WALL OR FLOOR, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SWUCH
PANELS. ANCHORAGE SHALL BE AS INDICATED ON NOTE A.1 ABOVE,

{B) TO EXISTING CONCRETE BLOCK WALL (ASTM C—80):
— 1/4°¢ TAPCON ANCHORS AS MANUFACTURED BY ITW BUILDEX, INC.

NOTES:

B.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS INTO CONCRETE BLOCK UNIT SHALL BE 1 1/4".

B.2) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING WALL,

ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS.
ANCHORAGE SHALL BE AS INDICATED QN NOTE B.1 ABOVE.

{C) TO EXISTING WOOD FRAME BUILDING: SOUTHERN PINE #2 W/ G=0.55 MIN,
— 1/4"8 LAG SCREWS PER N.D.S.

X .
L) .. e, -

NOTES: & &V\ WO ENS@-.,‘@ 3 ' . _

C.1) MINIMUM THREADED PENETRATION OF LAG SCREWS INTO THE WOOD FRAME UNIT SHALL BE 1 1/2" N N DA 1 FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
NO THREADED PENETRATION INTO STUCCO SHALL BE CONSIDERED AS PART OF THE REQUIRED ¥y L % v
THREADED PENETRATION. YS!’ 0. ?167 3 2012 TTECO, INe. RLL—4 SLAT ROLL-UP SHUTTER| T

C.2) MINIMUM EDGE DISTANCE OF LAG SCREWS INTO WOOD SHALL BE AS INDICATED ON SHEET 9. 3 W*S

C.3) IN CASE THAT PRECAST STONE, PRECAST CONCRETE OR BRICK PANELS, VENEER OR PAVERS BE R TEOF=~r § / l“.IE coO \ ROLLAC SHUTTERS OF TEXAS, INC.| i/
FOUND ON THE EXISTING WALL, ANCHORS SHALL BE LONG ENQUGH TO REACH THE MAIN SUBSTRATE > o éz‘\s INC. 5331 ORANGE STREET
BEHIND SUCH PANELS. MINIMUM THREADED PENETRATION SHALL BE AS INDICATED ON NOTE C.1 % @é» ‘\Q}é JILLTT TESTING & ENGINEERING COMPANY PEARLAND, T. 77881 19-038
ABOVE. =, /ON 1‘ Fhona + (W05J871-1536 . Fox ¢ (30BJ87 11631 PHONE: (800) 880-0822, FAX: (281) 485-0839 -

o
S ALE ' e—mall: tittgco@aol.com DRAWING No
&) y””’,”’, ‘ EG—0008719 ) REV, Mo DESCRIPTION DATE REV. Mo DESCRIPTION DATE
OLD 09~123 02/17/12{ 3
VELORDA LIt 44167 ; : SHEET 1 OF 13

7. ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE
ANCHOR'S MANUFACTURER.

8. ANCHORS REQUIRED FOR STORM BARS, HEADER & MULLIONS CONNECTIONS TO CONCRETE (MIN. f'c=3000 psi)
SHALL BE AS SPECIFIED ON APPLICABLE SECTIONS SHOWN ON SHEETS 5 6, 7 & B8 OF 13 RESPECTIVELY.

—CALK~IN ANCHORS TO BE AS MANUFACTURED BY POWERS FASTENERS, INC.
~TAPCON ANCHORS AS MANUFACTURED BY (TW BUILDEX, INC.
—KWIK BOLT TZ EXPANSION ANCHORS AS MANUFACTURED BY HILTI, INC.

MINIMUM EDGE DISTANCE AND SPACING FOR ABOVE MENTIONED ANCHORS SHALL BE AS INDICATED BELOW OR
AT ABOVE MENTIONED SHEET. EDGE DISTANCE AND EMBEDMENT ARE BEYOND ANY FINISH MATERIAL,

MINIMUM EMBEDMENT
ANCHOR SPACING EDGE DISTANCE POURED CONCRETE CONCRETE BLOCK
—1/4"8 TAPCON 3" 3" 1 3/4” (Min. Fo=3192 psi) 1 1/4" (ASTM C—90)
—1/4"p CALK—~IN 2 1/2" 3" 7/8" (Min. f'c=3000 psi) -
-1/2"8 CALK—IN 5" 6" 1 1/2" (Min. f'c=3000 psi) -
~5/16"8 TAPCON XL 3 3/4" 4" - 1 3/4" (ASTM C-90, GROUT FILLED)
-3/8"8 KWIK BOLT TZ 6" 4 3/8" 2" (Min. f'¢=3000 psi) -

9. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TQ VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE

SHUTTER IS TO BE ATTACHED TO INSURE PROPER ANCHQRAGE. THIS SHUTTER SHALL ONLY BE ATTACHED TO
CONCRETE, BLOCK OR WOOD FRAME BUILDINGS.

10. THE INSTALLATION CONTRACTOR IS TO SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN

CONTINUOUS CONTACT WITH THE BUILDING TO PREVENT WIND/RAIN INTRUSION. CAULK AND SEAL SHUTTER pRODUCT REVISED
TRACKS ALL AROUND FULL LENGTH, a3 complying with the Florida

Building Code
1. SHUTTER MANUFACTURER'S LABEL SHALL BE PLACED ON THE EXPOSED SURFACE OF THE SIDE RAIL Acceptanco No ! i
APPROXIMATELY 4" ABOVE THE BOTTOM OF SUCH RAIL =

. Expirat
LABEL SHALLTTREAD AS FOLLOWS: By
ROLLAC SHUTTER OF TEXAS, INC.

PEARLAND, TX. Product Coutrol
MIAMI—-DADE COUNTY PRODUCT CONTROL APPROVED.

12. ROLL—UP MECHANISM NOT FART OF THIS APPROVAL, BUT SHALL BE CERTIFIED BY AN INDEPENDENT TESTING
AGENCY,

13. ROLL—UP SHUTTER INSTALLATION SHALL COMPLY WITH SPECS INDICATED IN THIS DRAWING PLUS ANY BUILDING
AND ZONING REGULATIONS PROVIDED BY THE JURISDICTION WHERE PERMIT IS APPLIED TO.

14, (a) THIS P.AD. PREPARED BY THIS ENGINEER (S GENERIC AND DOES NOT PROVIDE INFORMATION FOR A SITE

SPECIFIC PROJECT; i.e. WHERE THE SITE CONDITIONS DEVIATE FROM THE P.A.D.

(b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE
SAFETY OF THIS PRODUCT, BASED ON THIS P.A.D. PROVIDED HE/SHE DOES NOT DEVIATE FROM THE

CONDITIONS DETAILED ON THIS DOCUMENT. CONSTRUCTION SAFETY AT SITE IS THE CONTRACTOR'S
RESPONSIBILITY.

(c) THIS P.AD. WILL BE CONSIDERED INVALID IF ALTERED BY ANY MEANS.

(d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR ARCHITECT WHICH

WILL BECOME THE ENGINEER OF RECORD (E.O0.R.) FOR THE PROJECT AND WHO WILL BE RESPONSIBLE
FOR THE PROPER USE COF THE P.AD.

ENGINEER OF RECORD, ACTING AS A DELEGATED ENGINEER TO THE P.A.D. ENGINEER, SHALL SUBMIT TO
THIS LATTER THE SITE SPECIFIC DRAWINGS FOR REVIEW.

(e) THIS P.A.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL ENGINEER
”,,quRECORD THAT PREPARED IT.

LR T

Q‘

Y
a"g




MAXIMUM HEADER SPAN (SEE SCHEDULE)
bX/‘f »W—J/B WV/7 @0
Cord,
1 7 T/ / [
&7 ~® & = &
/ / - - ll’ ‘F
ol g N Pt/ -2 ] / EI\
'g 570677 S5 56 3
8 A _ D NA—— . % %
;E; gl o e 4 S — i | B— = e | > g
LA 7% LA Fr4 A et R D s T P/t %
: OOO B2 -
f,: (Tvp.) — 2
| 8
O 2
(Tvp. Eo. END) §
7
A %
prre Mox. SLAT SPAN (SEE SCHEDULE) lb w-3/8 v/ ‘
Mow. SIAT SPAN (SEE SCHEDULE) Mox, STORM BAR SPACING (SEE SCHEDULE) - .
TYPICAL SINGLE UNIT ELEVATION {(NC STORM BARS REQUIRED) TYPICAL MULTIPLE UNIT ELEVATION (STORM BARS REQUIRED)

NOTE: SEE SHEET 2 & 3 OF 13 FOR COMPONENTS NOMENCLATURE. NOTE: S5EE SHEET 2 & 3 OF 13 FOR COMPONENTS NOMENCLATURE.

@Oﬁ"
Hox. MULLION SPACWG.I Max. MULﬁg).;I SPAGIG (SEE SCHEDULE) @0R®
L Epw 1/8 /_@ 28  [Ppuser —2/8 Ip V56,7
®\/ I IIIIII ISP L i €9V 75 74474 LKL // L

1l /) NI ] | i f® o
®<L u s @@ 1 M \ / i e
g @ I | | 1= I k
§: | | \© @ OR @\ I 54567 575,67 5,/5.6,7 5/5:6:7 Q §
y | I | @] A== === 2
E @0 e | F——— } ] th E E
S | I I Nl o [ o < 7| 83
& | | | I ar4 | &4 4 i | R4 5756 575,67 | | 5 &
= % 8
3 R | Rrf——~ ®®©OR% —~——! | 3
§ ; | _; H " || - {(Typ.) T TT — “ }i §
g l H || 7@0’?@&‘ | l| Al ii Yz §§
=== IE o B ] = =l :
. 1l If l I b |
N NN ANNNNSNANRRNRNNNNNNNY NENNN NNNN NN IANANNNNN NN AN AN SRR
’; 18 P lw-1/8 Ew-z/a v/5,6,7 W-2/8 bi|lvs67
WS- 1l
Max. SLAT SPAN Mox. STORM BAR_ SPACING .
{SEE' SCHEDULE) (SEE SCHEDULE) ) T Lidy 'P""I,,' 11 T
TYPICAL CONSECUTIVE SINGLE UNIT EL EVATION (NO STORM BARS REQUIRED) TYPICAL CONSECUT! KW;%M%@E VATION (STORM BARS REQUIRED) ' . . .
NOTE: SEE SHEET 2 & 3 OF 13 FOR COMPONENTS NOMENGLATURE, NOTE: SEE SHEET 2 &\9 é mk(feiﬁtyﬂws MLATURE. FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
PRODUCT REVISED

02012 TLTECO, NG RLL—4 SLAT ROLL—UP SHUTTER| e’

/ [ILTEC O in-. \ ROLLAC SHUTTERS OF TEXAS, INC.| /v

Reiiding Cuge . v Flocida No. 44167

Ipll””",gjﬁff

5331 ORANGE STREET
TILLIT TESTING & ENGINEERING COMPANY

s ;
by :
Notfé” e -
s %@E‘%%" =
Minmi Peodutt Conwrol .

PEARLAND, TX, 77581
6359 N.W. J8th, INIA GARDENS, Fl. J3166 4 -
‘\\ Prone ¢ (sa8a31e 1598 ok (308)871= 1531 PHONE: (800) 880--0922, FAX: (281) 485-0839 12-038
a~mail: tn'teco@ao! com v e T orsormon AT PR " rTe DRAWING No
WALTER A, TILLIT Jr PE. ] OLD 08-~123 [02/17/121 3
P FLORIDA Lic, # 44167 2 ™ SHEET 1A OF 13
TIIFITITY




2.000™

6.000"

& 1/8° x 25/32" SLOTTED VENTS
I' @ 1 3/4" 0.C. ALLOWED,
T ]
. .047" TYP.
EXCEPT AS NOTED.
L { 3
0
. ]
N
9
S o
aI L= 4
< -
e
T
—- .360"
NOTE;
—.550 TYPE 1 SLAT SHALL BE INSTALLED
W/ SIDE LOCKS AT EVERY OTHER SLAT.
RLL—4 SLAT

EXTRUDED ALUMINUM
806375 ALUMINUM ALLOY

4.000"

50"~ -

()

SCALE: 1/2" = 1"
i 4.000"
250"
(Tve.) ]
TYPE 1 HEADER:

4" HEAVY EXTRUDED HEADER

5063-T6 ALUMINUM ALLOY
SCALE: 1/2" = 1"

4.000"

.188"_|
(Typ.}

(L) TYPE 1 MULLION:

6" EXTRUDED MULLION

6063-T5 ALUMINUM ALLOY
SCALE: 1/2" = "

2.000"

(E) TYPE 1 STORM BAR:

4" HEAVY EXTRUDED STORM BAR
606376 ALUMINUM ALLOY

SCALE: 172" = 1*

4.000"

125"
(Tvp.)

TYPE 2 HEADER:

4" EXTRUDED HEADER
6063-T6 ALUMINUM ALLOY
SCALE: 1/2" = 1"

J.000" }

4.000™

125"
(Tvp.)

TYPE 2 MULLION:

4" EXTRUDED MULLION
6063—-T5 ALUMINUM ALLOY

SCALE: 1/2" = 1"

4.000"

e 2.000"——+|

4
%,

125" b
(Typ.)

(F) TYPE 2 STORM BAR:

4" EXTRUDED STORM BARS

6063—-T6 ALUMINUM ALLOY
SCALE: 12" = 1"

[——?.000"—]

125"

I 2.000" |

3.000”

125" o] foe
{Tvp.)

(G) TYPE 3 STORM BAR:

3" EXTRUDED STORM BARS
6063~T6 ALUMINUM ALLOY

SCALE: 1/2" = 1*

I J3.000" |

I'—.974'j_ 1.599"———-|

—.060"

(e )"

1.062"—

672"

1

062" %

082"

762

F_

TYPE 3 HEADER:

1"%4” EXTRUDED HEADER
606315 ALUMINUM ALLOY
SCALE: 1/2" = 1"

I~ 2.000” i

125"}
(Tp)

3.000":

TYPE 3 MULLION:

3" EXTRUDED MULLION

6063--T6 ALUMINUM ALLOY
SCALE: 1/2" = 1"

'PRODUCT REVISED

a3 complying with the Elorids
Building Code

Acceptance No’

Expiration I
By

Miami Controt

..__H‘E.E‘LSYJ’__L—L

T
]

TYPE 1 SIDE RAIL

RLL—-25 SIDE RAIL
8063-T5 Alum. ALLOY

SCALE: 1/2" = 1*

080"

"~ le——1.509"—=
-—r..szo“-—l 208

e ‘I_L} .720—_—L‘!——. 162"

2.963"

(P) TYPE 2 SIDE RAIL

Tl Il ’Iﬂlly’y
e

“errsapertst

RLL—40 SIDE RAIL
6063~T5 Alum. ALLOY
SCALE: 1/2" = 1"

2.508"
22627

0707~

078"~ =

et 188" —

RLL—-16

TYPE 4 STORM BAR:
RLL~15 + RLL—16 EXTRUDED STORM BAR

6063~T5 ALUMINUM ALLOY
SCALE: 1/2" = 1"

[ 3,000

4" Max.
1% Min,

25" ||
{Tvp.)

(¥) BUILD-OUT TUBES

J'4" EXTRUDED TUBE

6063—T5 ALUMINUM ALLOY

SCALE: 1/2" = 1"

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

@2012 TILTECO, INC.

/ TLIECO e \

6355 M.\, 36th, St,

e—majl: tiftecogoo!. com

FLORIDA Lic, # 44167

TILLIT TESTING & ENGINEERING COMPANY
Sts, 305, VIRGINIA GARDENS, Fi. 33168
Phone : (305)871-1530 . Fox : (305)871=1531

RLL—4 SLAT ROLL—UP SHUTTER| o &
ROLLAC SHUTTERS OF TEXAS, INC.| ®/v/%
8331 ORANGE STREET
PEARLAND, TX. 77581
FHONE: (800) 880—0922 FAX: (5;91) 485-0839 12-038
REV, Mo DESCRIPTION DATE REV. No DESCRIPTION DATE DRAWING No
1 OLD 09-—-123 [02/17/12) 3

WALTER A. TRLIT Jr. PB.E:

4

SHEET 2 OF 13




S T
—_ 344"

164"
1327 [~

T
- G'_"- »
047" LY
TYP, w "
, R &
@ o
3
' 296"
S
180" — - %
484"~ |— S
RLL-6

EXTRUDED ALUMINUM
6063—T5 ALUMINUM ALLOY

DETAIL

RV 45& RV 45/S
HOUSINGS

(V) BOX COMPONENTS AND ASSEMBLY DETAIL

45" CHAMFER
AS APPLICABLE

STUB DETAIL >

(N. T. S.)

X) SIDE CAPS:
BK 90, BK 45 & BK 45/S

COMPONENTS FOR GEAR _OPERATED SYSTEM

/

SIDE (AP HEEHT
(SEE SCHEDULE)

/

45 CHAMFER
AS APPLICABLE

(1) ~ GEAR SIDE CAP HEIGHT SCHEDULE

(2) ~ UNIVERSAL & CRANK veE] 9o 45

(D) — CRANK HOLDER(OPTIONAL) ; 20 N/

() — GEAR INSERT(GEAR TO AXLE CONNECTOR) -

(5) — IDLER INSERT 2 2.0 N/A

(6) — BALL BEARING J L 95 NA
~ OCTAGONAL AXLE * 4 6.0 6.0
— SIDE/END CAP * 5 6.5" 6.5"
~ HOUSING(FRONT & BOTTOM), 0.040” THICK 6 7.0" 7.0"
~ SIDE RAIL 7 8.0" 8.0
— PLUG-BUTTOMS P 00" 00"
~ ALUMINUM SLATS ; ;
T AL 9 | 100 10.0"
~ PLASTIC STOPS(OPTIONAL) 10 N/A 12.0
— SIDE LOCKS(OPTIONAL) N/A = NOT APPLICABLE
— STAPLES(OPTIONAL)

D — SPRINGLOCK HANGER * SHALL BE CAPABLE TO SUSTAIN SLAT'S WEIGHT AND
— SAFETY PLATES ASSURE LIFTING MECHANISM (SE'E NOTE ?2/1).

ADDITIONAL COMPONENTS FOR

MOTORIZED OPERATED SYSTEM

20 ~ TUBULAR MOTOR
@1) ~ MOTOR BRACKET
@2 — SWITCH

FASTENERS

@3 ~ 3/16" ALUMINUM POP RIVETS(6 REQ'D EA.

SIDE CAP) : 2 @ TOP, 2 @ REAR, 2@ BOTTOM

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

@2012 TILTECO, INC.

RLL—4 SLAT ROLL—-UP SHUTTER| W 2"

L6 /A6

TILLIT TESTING & ENGINEERING COMPANY
G383 N.K. J6th, St., Ste. 308, VIRGINIA GARDENS, Fl. J3166

/ |IL|ECO INC. \ ROLLAC SHUTTERS OF TEXAS, INC.| °/17/1

5331 ORANGE STREET

PEARLAND, Tx, 77581

Phane : (305)671-1830 . Fox : (305)871-1531 PHONE: (800) 880-0922, FAX: (281) 485~0839 1 2-0‘-1'8
e-mail: tiltecoGaol.com DRAWING Mo
(SEE NOTE 12 ON SHEET 1) EB-0006719 REV. No |  DESCRIPTION DATE REV. Mo DESORIPTION DATE
WALTER A, TILLIT Jr, P.E, ! oL 09~123 192/17/12 ¥ SHEET 3 OF 13
FLORIDA Lic. # 44167 2 4




POURED CONCRETE OR

CONCRETE BLOCK
TAPCON ANCHORS

REQUIRED
(SEE SCHEDULE ?2

ON SHEET 13 OF 13) E D
(SEE SHEET 13 OF 13)

zzzz

2

EQ. T ED.
[

.250°__|
MAX,

X1Dj>

5o oa m

= @)

@

SECTION P-P (1) : WALL MOUNT

SCALE: FULL

POURED
CONCRETE
REQUIRED
1" % 2" x 1/8" Cont, Alum.
ANGLE W/ 1/4% TAPCON
e ‘ ANCHORS @ 12" 0. ©.

! TAPCON ANCHORS
(SEE SCHEDULE ON
SHEET 13 OF 13)

@ PRODUCT REVISED
o - ing with i
| EXISTING ' conplying with the Florida
2" x 2" x 125" I GLASS Building C“*No
Cont. Alurn. ANGLE oo I “ EAW' X Wg
: |
POURED @ or ®/ ‘ ST @ e/ By
CONCRETE OR P Mimni Contrel
soce o 1 1% 2" OR 1" x 3" OR 2" x 3" OR
REQUIRED I <, o] OR 2% 4" x .062" Cont. ALUMINUM ANGLE . . .
) = ' I"J'I—l . TIPCON NCHORS FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
. DRAWN 8Y:
/ 4/ // ©2012 TLTECO, NG RLL—4 SLAT ROLL—UP SHUTTER| o
g SECTION X-X (3 :
AR : pouren conceere 3] liLtleEco ROLLAC SHUTTERS OF TEXAS, INC.| °//v
Cont. Alurn. ANGLE REQUIRED NOTS INC.
TAPCON ANCHORS TILLIT TESTING & ENGINEERING COMPANY g;’;mi,?”g 57%&"]"
@ 1zo ¢ SECTION X -X (2} O s s 3b1a e sagy VIECINA GARDENS, Bt 166 PHONE: (800) 880-0922, FAX: (281) 485-0839 12-038
SECTIONX-X { 1) N TS e-—mag;'g_tﬂotggg??gl.com REV. Mo | DESGRIPTION airt | mev e BESCRATION AT DRAWING No
WALTER A, TILLIT Jr. P.E. + |OLe 09-123 lo2/17712] 3
NI S FLoRDA” Lie 4 44167 7 3 SHEET 4 OF 13

1" x 2"
W/ 1/4°8 TAPCON ANGHORS @ 12" 0. C.

y

" x 2" x 125" Cont.

2
ALUMINUM ANGLE

1 ANNNNNNNNN

1/4% x 3/4" TEK
SCREW @ 6" 0. C.

TAPCON ANCHORS
(SEE SCHEDULE
ON SHEET 13 OF 13)

W

/,.

POURED CONCRETE OR
CONCRETE BLOCK ~——a_

REQUIRED /

Y E D

(SEE SHEET 13 OF 13)
G //

/4% x 3/4" 161
SCREW ® 8" 0. C.

TAPCON ANGHORS
(SEE SCHEDULE
ON SHEET 13 OF 13) X2
b=
) /
5 /
&2 / e Rsal
y E <
coem coom on 3 e
ETE C.
REQUIRED {ﬁ -
8 74 o ||
MaX,
«®

SECTION P- P (2): SIDE WALL MOUNT

: L)
EQ. ' EQ.

_®

— ——acwga

s

.250"__|

SCALE: 172" = 1"

1/8" Cont. Alum. ANGLE POURED CONCRETE

REGQUIRED

Aoy Vo

- T R
A N B
| / \ A nl
(- o “1
R : sl
AN b I
| - .4 .'A"“
L sl
0 -
7
N ﬂ%l
Ll
TAPGON ANCHORS e
(SEE SGHEDULE ON —— | I

SHEET 13 OF 13) SHEET .
10 OF 13 |
FOR Min,
separanon ||
0 GLASS il
e

{
a li

Cont. 1'%2" 2

sl

X3

SECTION P - P (3) : BUILD-OUT

%2, 2°x3" OR

2°%4"%1/8" ALUMINUM TUGE,

W/ 1/4"% TAPCON ANCHORS

@ 12" o

POURED CONCRETE
OR CONCRETE BLOCK,

REQUIRED N

TAPCON ANCHORS
(SEE SCHEDULE ON
SHEET 13 OF 13}

POURED CONCRETE
OR CONCRETE BLOGK

REQUIRED

SCALE: 1/2" = {*

' x 2% x 1/8" Cont. Alum. ANGLE .
W/ 1742 x 374" TEK SCREW @ 12" 0. C.

7&

174" x 3/4" TEK__~
SCREW @ 6 0. €.

SECTION Q- Q : MULLION MOUNT

OO

W-1

- Y-
EQ.V EG. 35,
250"
wax

i

= (P)

SCALE: 1/2" = 1”

@@”@\

i
| 1/4"8 x 3/4" TEK
| SCREW @ 6" 0. C. A
I
l
I
J - ) T
R = =
£ e, I EQ. VEQ.
ESesa n "L} ). 5T _Te
. _-250" 250"
MAX. MAX.

W-1 D])

SECTION R - R : MULLION MOUN

SCALE: 172" = 1" ;




POURED CONGRETE WITH 4°
MIN, THICKNESS REQUIRED
(Fc=3000 P.S... MIN.)

et ]

[
EXISTING /{l

GLASS

Il separarion
| SHEET 10

7O GLASS
H

" SEF SCHEDULE ON

OF 13

! OR ®

A

(BEYOND)

. MAXIMUM STORM BAR HEIGHT FOR THIS INSTALLATION TYPE
SEE SCHEDULE ON SHEET 171 OF 13

/

B CI

o o

o

POURED CONCRETE WITH 4"
MIN, THICKNESS REQUIRED
(Fe=3000 P.5.I. MIN.)

B,
( SEE SECTION "S" FOR ANCHOR TYPE REQUIREMENT)

N

FOR 1/4"¢ TAPCON ANCHORS
OR 1/4"¢ CALK—IN ANCHORS

TS5

BOTTOM SLAT
000" .wn./
I
E

SINGLE SPAN SECTIONS AND DETAILS
ARE SIMILAR TO ABOVE SHOWN WITHOUT
STORM BAR & HEADERS.

! 1/2%1 1/2%1/8"%0'-3" ALUM,
ANGLE W/ (1} 3/8%8 KWK BOLT 72
W/ 2" Min. EMBEDMENT AT EACH SIDE,

[=—— SEE SCHEQULE ON
SHEET 10 OF
]

13

OR@

IE(\’

(BEYOND)

2.000"

T (MINgT

Q) (@)

___@

2%4Wax K1 /404 12" ALUN, ANGLE

W/ (2} 5/16°0 TAPCON XL ANCHORS TO
GROUT FILLED CONCRETE BLOGK OR

POURED CONCRETE WALL AT EACH SIDE FOR
A5.0. DESIGN PRESSURE RATING UP TO 130

pst 3'-10" Max. STORM BAR SPAN, OR

USE (2) 3/8" KWK BOLT TZ ANCHORS TO
POURED CONCRETE AT EACH SIDE FOR ALL

SPAN & LOAD CONDITION.
USE (2) 1/40x3/4" TEK SCREW

r

POURED CONGRETE WITH 4"_|
g MIN. THICKNESS REQUIRED
(FC=3000 P.S.I MIN.)

—

@

BOTTOM sa,ﬁ,ﬂ /

70 STORM BARS AT EACH SIDE.

POURED CONCRETE WITH 4
MIN. THICKNESS REQUIRED OR
GROUT FILLED CONCRETE BLOCK

SECTION V — V

199998850,

ERA. Ty

oR “——(2) 1/470-20 S.5. M.S.
W/ 7/8'8x3/32" WING NUT

X_
2% (MAX. )X 1/4"%0'-4 1/2%
Alum.” ANGLE “EACH SIDE.

- |TMACHINE SCREW

FULLY EMBEDDED

i)
. '_-4,. INTO ANCHOR

T~ ANCHOR

1'%2"%1,/8" Cont. Alum. ANGLE W/
1"%2"%1/8" Cont, Alum. ANGLE W/ 1/4° x1 3/4" TAPCON ANGHORS L R
B A ey e @ 120, C. FOR INSTALLATION Z507,.750"
e12oc e ——— INTO HEADERS USE 4y 3%t 1/2'1,/8"
- AN (2) 1/¥8x3/4" TEK . Sopy gAR DEPTH \
/ / AN SCREW EACH SIDE. Alym, ANGLE EA. SIDE ] o
s pmmma I 5
- // N ! D «—FOR !(N?‘TAL/LA TION INTO CONCRETE,  §
i . | : USE (2) 1/4°8 TAPCON ANCHOR S e
| | POURED CONCRETE WITH 4 / \ | X EACH SIDE FOR ANY SLAT SPAN, O NE
i MIN. THICKNESS REQUIRED ! - \ [ T STORM BAR SPAN & A.S.D. DESIGN -
7T i (FC=3000 P.5.L. MIN.) ‘) ' ! f L0ADS s
e | - !
\ z
\ ! 2.5" Min / f 3
| / |
SRR L N o )
-/ ,r, I e A \ / 1
J : s I ~_(2) 1/4"x3/4"
_______ el — TEK SCREWS ' y
s
—— /, L] g ! L@ OR @ EACH SIDE \oge o 2 it
i IC’ o OPTIONAL WALL EACH SIDE
_____ . 25 3 s | = I -
\—— oRTIONAL | "SCALE : 1/2" = 1" SCALE : 1/4" = 1°
| FOR INSTALLATION '
2.000" | @ oR ® INTO HEADERS USE
=" () ' (2) 1/4°8x3/4" TEKI 1/2'%1 1/2"%1,/8"
I SCREW EACH SIDE. x STORM BAR DEPTH
@ or ® T I/ 34y AT ANGLE EA. SIDE_ FOR INSTALLATIONS INTO CONGRETE, T
i y ] | P USE (2) 1/4"0x7/8" CALK—IN ANCHOR *, L, s
52 1 s 5 EACH SIDE AT CENTER OF ANGLE FOR "
s ! | R @ N ANY SULAT SPAN, STORM BAR SPAN & <.
{ I} ; s T ( A.S.D. DESIGN LOADS ==
1 EXISTING —] i . S
GLASS i _§ T \/L A 4
| 4
I oR @ : '@ | - ;
s L
| | X E '
P, . . i = "
! SEPARATION TO GLASS i SCALE : 172 '
|
|

XK 1/4'0—20 MACHINE SCREWS USED JOINTLY W/ 1/4"8x7/8"
CALK—~IN ANCHORS RESPECTIVELY SHALL BE LEFT TOGETHER
W/ ANCHORS AT THE TIME STORM BARS ARE REMOVED.
(SEE DET. A).

- ST10
SCALE : 1/2" = 1"
1.000", 1.000" 1.000", 1.000"

POURED CONCRETE W/

/—_ 4" MIN. THICKNESS

, REQUIRED OR GROUT
FILLED CONCRETE
BLACK WALL REQUIRED.
L 4J
EDGE OF WALL

'2) 1,/4"0x3/4"
EK SCREWS
EACH SIDE

SECTION 81 - 81

] “ "o
WA I
¢ PP
\\\\ .$.‘.' \'\ ENS€o.'.C{p U::.
) %,
s kS
3
13 P d
. A, * . y a'. \
%R SORIOR A
A AU TARADNT
y‘r‘,‘,”i/”;gﬁ"

SCALE : M.T.S.

WALL MOUNTING: SECTION V=V(1) INSTALLATION
W/ FIXED STORM BARS W/CONCRETE ANCHORS

SCALE : N. T. S,

FRODUCT REVISED
as complying with the Florida

Building Code
Acoeptanoe No’
- Expirats

By

Minmi

1$.16
3

Product Control

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

@2012 TILTECO, iNC.

/ TLIECO e, \

TILLIT TESTING & ENGINEERING COMPANY
6355 MM, J6th, St, Sle. 303, VIRGINIA GARDENS, R, I3166
FPhare : (305}871-1530 . Fax : (305)871w1531
e—-mail; tiftsco@aol.com

~QQ067 12
WALTER A, TILLIT Jr, P.E
FLORIDA Lic, # 44167

RLL—4 SLAT ROLL—-UP SHUTTER fﬁﬂi;n
ROLLAC SHUTTERS OF TEXAS, INC.| v/
5331 ORANGE STRELT
PEARLAND, TX. 77581 12~038
PHONE: (800) 880-0922, FAX: (281) 485-0839
REV, Mo DESCRIPTION DAYE REV. No DESCRIFTION DATE ORAWING No
! OoLD 09-123 |02/17/12 J

4

SHEET 5 OF I3




FOR INSTALLATION

1"%2"%1/8" Cont. Alum. ANGLE W/

INTO HEADERS USE " w1 igh
1%2%%1/8” Cont, Alum. ANGLE W/ 1/4°8 x 1 3/4" TAPCON ANCHORS () 1/4"03/e" e {5/;5 o B%g EL/;?H
POURED CONCRETE WITH 4" 1/4 @ x 1 3/4" TAPCON ANCHORS @ 12°0 ¢ SCREW EACH SIDE. Alum. ANGLE EA _SIDE  FoR INSTALLATIONS INTO CONCRETE, @‘DR 1 1/2%1 1/2%1/8"%0'-3" ALUM.
MIM. THICKNESS REQUIRED @ 12" 0. C. 5 i34 UoE (2 1t marooN Action ) ANGLE W) 11) 358 KWIK BOLT T2
(F'C=3000 ;.’SJ. MIN.) , FacH Sl AT CENTER OF ANGLE FOR .57 W/ 2" Min, EMBEDMENT AT EACH SIDE.
/ 142" ANY SLAT SPAN, STORM BAR SPAN & | |
/ ~ AS.D. DESIGN PRESSURE RATING _ .
iy ! i 7 UNDER 65psf. 172 1/2
[ ] g8 ! i | q |_FOR AS.D. DESIGN PRESSURE RATING T
P i \ I (j f GREATER THAN 65psf AND ANY SLAT
I 00 e, \ ! . SPAN & STORM BAR SPAN, USE (1)
i 83 / . ) ! | 1 3/8"8 KWIK BOLT T2 ANCHOR, EAGH N
i . ’ \ POURED CONCRETE WiTH 4 : [ \ /J' ! 12" U4 SIDE AT CENTER OF ANGLE 3
i ! ; / \ I MiN. THICKNESS REQUIRED in. |-~ AN / [ f
i S i3 / ~ \ I (F'C=3000 P.S.1. MIN,) “1 ED. N, . A ~~——(3) 1/4"0x3/4" TEK
il } i i b L ) ,‘ i ——— A L@oﬁ, @ SCREWS AT EACH SIDE. //
LT ) / £
[ / [ / 4
i ! [ \ , - 1 W SECTION S ~ S (FOR FIXED STORM QAE) EDGE OF
1 ' f . - A L o I WALL (3)_1/4"0x3/4" TEK
1l } | ~———— 7 By OPTIONAL SCALE : N.T.S. SCREWS AT EACH SIDE.
I Il ! ﬁ {/ i 5-0-0
1 fegd —
t 2000 |l [] o I 4 o : FOR INSTALLATION
lr_-(MlN.) : | T T INTO HEADERS USE 1 1/2"%1 1/2%1/8™ SCALE : NT.S
" ! | \— oPmionaL | ! 060 @ oR @ (3) 1/4°8x3/4” TEK STORM BAR DEPTH
I ! il sooor | i SOREW EACH SIDE. Alum. ANGLE EA SIDE  rom WSTALLATIONS INTO GONCRETE,
i I { = (v )11 ! . . o3/ et w3/ 7 / USE (2) 1/4"0x7/8" CALK—IN ANCHOR *,
il I i \_® ! } i i y b, EACH SIDE AT GENTER OF ANGLE FOR ANY :
o [ l @ @ I I » \( /_/ SLAT SPAN, STORM BAR SFAN & A.S.D. T [ —_
& i i ooo OR ! T N ke N DESIGN PRESSURE RATING UNDER 6Bost. A T |
EXISTING = || | | 1y 4 4. . L TMACHINE SCREW
3 I ! . 1 s i | | ' or @ Py g FOR AS.D. DESIGN PRESSURE RATING R g | FuLLY EMBEDDED
= H | | IS ’_} ; i f [l : &8 = GREATER THAN 100psf AND ANY SLAT SPAN . \f“;lNTO ANCHOR
§"~3 ] i } EXISTING | RIS 1 n & STORM BAR SPAN, USE (1) 1/2"ex! e
u i —~—lf ! ! | ! } h o) 1/2" CALK—IN ANCHOR *, EAGH SIDE AT - e .. . T ANCHOR
'ﬁa \{- GLASS I 1 Lo ) " 4, a .
=7 f [ A@ oR @ i , 1 Jov N CENTER OF ANGLE . \/\ al
g I } 1A } ! ! —@) 1 N
i [ ! “—(2) 3/8" 5.5. THRU BOLTS W/ NUT -
gg i Il I ! I\l @ 4 SCALE : 1/2" = 1"
w fl I I sepArATION To 6tAss [Tyl | oR ®
=3 1 | [ [~ SEE SCHEDULE ON ~—iit | - ™
Ly i ! | [ sweer 10 0F 14 | f1H I ¥ 1/4°0-20 OR 1/2"0—13 MACHINE
g SEPARATION TO GLASS I 1 O ! I SCREWS USED JOINTLY W/ 1/4°9 x 7/8"
. § SEE SCHEDULE ON =H | A i | ! H OR ® - ST0, OR 1728 x 1 1/2" CALK—IN ANCHORS
: §§ | SHEET 10 OF 13 I | SCALE : N.T.S. RESPECTIVELY SHALL BE LEFT TOGETHER
x il i ] : (BEYOND) W/ ANCHORS AT THE TIME STORM BARS
Sh il i [ ! OR T AT T ARE REMOVED. (SEE DET. A).
R4 ( : i : 2.000" [ i e ‘ '
- RN SR {
3 \/\ (BEYOND) (MiN.) l ; ﬂk@ OR@ 1.000", 1.000" 1.000”, 1.000"
‘ T T T T T 1 |
§ I ‘ I V f : : POURED CONCRETE W/
4" MIN, THICKNESS
i t I 52 | szl i |__® , REQUIRED OR GROUT
il | | ! ! I FILLED CONCRETE
i : |l | i | ! E L BLOCK WALL REQUIRED.
|
! | 9! l\® ! I -+ =P EDGE OF WALL
M~ b =T ~®
' k- ool | g raa i o
i : . i
i ! T l i AT EACH S N § fehie ] o
i LB i II | - —‘ T (4) 1/4°0x3/4
200" |l | ( I " Minkd THlist I TEK SCREWS
|[ {MIN.) : { I - | : st HSkvee -ttty EACH SIDE
! I : : 5P Il i [4 |l”"””””"’lm»
I ! | 1 ! MIN. THICKNESS REQUIRED : | BOTTOM SM“,H —\{-j‘\ A. TI[ L
i\ s S i ]  (F'c=3000 P.S.. MIN.) ~ </ o $§'\, /);/“:; SECTION 81 - S1 FRODUCT RE
I o O I \ \C,ENS ZIRN WUCT REVISED
G \ B . o .
H o060 000 /4 25" (Max Jx1/4°%0'~6" ALUM. ANGLE S v € "% SCALE : N. T S ENW&::%'“‘WMM
g BOTTOM SLAT W/ (2) 571678 TAPCON YL ANCHORS T0 % 3 . L3 A - '
y 1 GROUT FILLED CONCRETE BLOCK OR N W 3 Aooeptance No :
POURED CONCRETE WALL AT EACH SIOE FOR I . 7 v ) apirat 4
AS.D. DESIGN PRESSURE RATING UP 0 I Do Y
Blpsf, 54" Mox. STORH BAR SPAN, OR o s 1] -4 - -; @Bﬁ T/ :. §‘ By
USE (2) 3/8"% KWK BOLT TZ ANCHORS T0 { - 42, Sy Product
n POURED CONCRETE AT EACH SIOE FOR ALL T R WAy SAG N Cantrol
POURED CONCRETE WITH 414 ror 1/4% TAPCON ANCHORS—] SPAN 4 LOAD CONDITON. ~ i % Ao LORIDM. &7
MiN. THICKNESS REQUIRED OR 1/4% CALK~IN ANCHORS USE (2) 1/48x3/4" TEK SCREW SR =, &J‘ LR @ n
(F'CHJUUO £.5.4 MIN-) 70 STORM BARS AT EACH SIOF. / et 6‘/0 Eﬂc’} ‘ﬂ
FOR 1/2"8 CALK~IN ANCHORS ' //I "o, INAL ! FLORIDA BUILDING CODE (High Velocity Hurricone Zone)
I
3/8" KWIK BOLT T2 ©2012 TILTEGO, INC. DRAWN BY:
RLL—4 SLAT ROLL—UP SHUTTER| leme
F . — I —
S —— - IILTIEC O 1nc. \ |ROLLAC SHUTTERS OF TEXAS, INC.| 7"
. S —— o SCALE : M.TS TILLIT TESTING & ENGINEERING CO;JPANY 3531 ORANGE STREET
SEE SECTION "S" FOR ANCHOR TYPE REQUIREMENT) BRAE PEARLANG, TX. 77581 _
( NTS B0 e (15838311590 . Fon ¢ (SORBT I8 PHONE: (800) 880-0922, FAX: (281) 485-0839 12 10:1,8
SINGLE SPAN SECTIONS AND DETAILS SECTION V — V s=mall. tiltecoecl.com 72V, o | esemeiion o] mov e TESCRPTON | DRAWING No
ARE SIMILAR TO ABOVE SHOWN WITHGUT —_——— WALTER A, TILLIT Jr. P.E ] OLD 09-123 102/17/12 ]
STORM BAR & HEADERS. : FLORIDA Lic. # 44167 - — SHEET 6 OF 13
YDA L




2"¢3"Max. Jx1/8" CONT. ALUM.

TUBE W/ 1/4"% x 1 374"
TAPCON ANCHORS @ 12" 0.0
FULL LENGTH TO POURED

W/ 1/4°% x 3/4" TEK SCREW

1"%2"%1/8" Cont. Alum. ANGLE
X@ 12" 0.C. TO TUBE

2'%4(Min.)x1/8" Cont. Alu

TUBE W/ 1/4% x 1 34'"%
TAPCON ANCHORS @ 12" 0

FULL LENGTH TO POURED

CONCRETE

1 x 2" x 125" Cont, Alum. ANGLE W/
/48 x 3/4" TEK SCREW @ 12" 0. €. TO TUBE

11/2%1 1/2%1/8"%
STORM BAR DEPTH
Alum, ANGLE EA. SIDE

CONCRETE S
750" 750" FOR INSTALLATIONS INTQ TUBE &
L } HEADERS USE4 (zg 1/4'% x 3/4"
— . " TEK SCREW FA. SIDE FOR STORM -
~ ~ / . l e A L BARS @& (D & (3) 1/40 x 3/4"
i £a. g 3 TEK SCREW FA. SIDE FOR STORM
/ / LA I M 34l BARS
o \ \® \ l I n
" O P e o 0 f\ l [N B O
J.00i Jooo k,
POURE] in. | POURE! in. | T m il
CONCRETE | CONCRETE i / £0, ] 2z O
REQUIRED | o . REQUIRED / I I | N P \@ | ,ﬁ; NP ﬁ A
/ | — / | —
// / | /// / l | __ (2) 14 x 34" TEK SCREW €A
| | ‘ . OR SIDE FOR STORM BARS
[T ] | [ [ [ == (3) 1/4" x 3/4" TEK .S‘CREW EA.
I | l SIDE FOR STORM BARS (E)& (F)
L o O @w®
L 1 i | | SECTION S3 - S3
l o © C)OR () | I o o o SCALE : 172" = 1"
2.000" Min. | | 2.000" |
| | v | | |
N o — N
=0« ® e P GRIG) ® ©@x=®
| 53 I 53 l 53 | s3 USE CONCENTRATION OF OR
{ | ] | + + ] * (8) 5/16"8 TAPCON XI. ANCHOR TO
, o ' | | | | GROUT FILLED CONCRETE BLOCK OR
EXISTING GLASS— | | POURED CONCRETE WALL @ 4" O,C. 1 1/2°%1 1/2"%1/8"xSTORM BAR DEPTH
| | | | L_,-f-—*‘l' AT STORM BARS LOCEAB'IO.‘V/ OR USE At ANGLE
SERARATION TO GLASS SEPARATION TO GLASS —{ : ) CONCENTRATION OF (2) 3/8'¢ KWiK _
SEE SCHEDULE ON @ Sen SOMEDULE O | CONCENTRATION OF (2 3 & (SEE SECTION S3-53 AS APPLICABLE)
SHEET 10 OF 13 I SHEET 10 OF 13 I CONCRETE WALL @ 4" O.C, AT
' | l - | l STORM BARS LOGATION 257 Mort/4” Cont.
l ‘ I 1\} | | | i \ iALUM ANGLE (CASE 1)
I | \@OR® | N\@m@ .""#o ;‘QL e o 0 \:ﬁa o e o o ] #
L /\ | | =]\
| | I I ?gé@?,;gj” TU8E | l f— i | 12" 12" i”/ / 4 4" 4" 4" 4" 4 12° 12.000"
‘*—~—§<@ |\ 2'%6"x1/4" Cont. 1/4"8 TAPCON ANCHORS @ 12" oc\
I Or @ 2.000" Min. \-@ ALUMINUM TUBE : —
l | ‘ I | G | i {TYP. AT EACH SIDE, BEYOND CONGENTRATION)
2.000" Mo, || | * Te i
| L5 | ELEVATION/X
i . — J, | 1! VATIO
| l 1IN SCALE ¢ 1/8" = 1"
BULD-OUT TUBE | | | | (el | \@OR ®
{BEYOND) ‘ | y
— T —©*® N I |
* [ | | * -
3 =] L ® — SR v | — o
¢ ©
//// /// | © o o ////I . | o o o o o o
/4.500" / @ ‘ffgva @
Ul s o i1 F= =
BOTIOM SLAT b3 NY7) T +
T ¥ " G E ¥ ¥ 5 BoroM sy PRODUCT KEV)ISED

POURED CONCRETE WITH 4" MIN.-/
THICKNESS REQUIRED OR
GROUT FILLED CONCRETE BLOCK

CASE |

STORM BAR CONNECTION AT BUILD-QUT INSTALLATION : SECTIONS V- V (3)

L 2°x7"(MAX.)x1/4" CONT,

ALUMINUM ANGLE

W/ CONCENTRATION OF
ANCHORS SPECIFIED
ON SCHEDULE,

POURED CONCRETE WITH 4" MIN.
THICKNESS REQUIRED OR
GROUT FILLED CONCRETE BLOCK

ﬁ
\ K\

¥
il
3/4"

CASE I

[__2 "R6"(MAX.)x1,/4" CONT.

)4 ”ﬂ”u,, o

ALUMINUM TUBE W/

SCALE

/4" =

!
QE R N T
é\\\$""..
N
§, ¢ No.astp7
3 Z
‘;,%’«S’/O W g
”liy”’;’,li”’

2"%3"(Min.)x1/4" Cont. ALUMINUM ANGLE
W/ CONCENTRATION OF (#)1/4% x 1 1/2"
TEK SCREW @ 1 1/2" 0.C. AT STORM BAR
LOCATION, REST @ 12" O.C.

as complying with the Florida
Building Code

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

©2012 TILTECO,

/TiLlECowm:. \

W d8th,
Phane : (Josjsrr 1530 . Fox :

TILUT TE'STlNC-‘ & ENGINEERING COMPANY
Ste. 305, VIRGINIA GARDENS, Fi. J3168

g=mail: tiltsco@aol.com
EB=-0006719

WALTER A, TILLIT Jr. P.E. !

FLORIDA Lic, # 44167 z

e RLL—4 SLAT ROLL—UP SHUTTER| oum ev
ROLLAC SHUTTERS OF TEXAS, INC.| /2
8331 ORANGE STREET
PEARLAND, TX. 77581
(J05)871~1531 PHONE: (800) 880-0922, FAX: (281) 485-0839 12-038
REV. Mo | DESCRIPHON oA | Fev. Mo DESCRFTION PATE DRAWING Mo
QLD 08—123 02/!7/12{ -: SHEET 7 OF 13




MAXTMUM MULLION SPAN FOR THIS INSTALLATION TYPE

"x 2" x 1/8
ALUMINUM’ ANGLE W/ 1/4 ¢x1‘ J/4
APCON ANCHORS o 127

POURED CONCRETE W/ 2"xMULLION'S DEPTHx1/8" Cont,
4" MIN. THICKNESS

ALUMINUM TUBE W/ 2*%2"%1/8%0'-2"

1"
ALUM.WUM m@.z W/ r/4 axr 3/4"

REQUIRED 2 (Awuyum A/ﬁ:'fGLE AT MULLION W/
3) 1/4"8x3/4" TEK SCREW EA. LEG.
/ / / TAPCON ANGHORS @ 12" ?r __________ . (TOP/BOTTOM)
POURED CONCRETE W/ / oo o 2°%2"%1/4"%0'~6" (6061-T6 ALLOY) Alum 1'%2'%1/8" Cont. ALUMINUM
© o B eSS W, Rl eSS : - “ ANGLE EA. SIDE W/ (2) 5/16™ TAPCON XC ANGLE W/ ¥ 'ox3/4" TEK
PN REQUIRED AN / | pd ~ W/ 1 1/2" Min, EMBEDMENT WALL, OR SCREW © 12" 0.C.
i y \ %, / \ | \ il USE (2) 3/8"¢ KWIK BOLT T2 W/ 2" Min
i - N // [ | Oy o 1 EMBEDMENT TO POURED CONCRETE WALL
1 1/2%1 1/2%1/8% MULLION_§| I| l . | \ { ) | / [ — ! I (4" MIN, THICK).
DEPTH Alum, ANGLE (EACH SIDE) | ! / | A\ / 1l USE (2) 3/8"8 THRU BOLTS TO MULLION.
W/ (2) 3/8°9 KWK HOLT T2 1 AN / A / { N [ —
W/ 2° Win. EMBEDMENT 10 SIAB -~ -—® 77 SN \® . | - 1 BEYOND
(Typ. TOP & BOTTOM). i I D oo ] I
| | I === L
| £ @ . |
= POURED CONCRETE b
" : : @ { - . W/ 4" MIN. THIGKNESS ; f
@/ ..... = ~ By I 1/2 REQUIRED. | |
: Q@ . Do ® A T 00x® » In
N | ! @on@ (ONLY FOR  W—W(2)) /// .I / | I
M 2" f / | :
~ in. Fu3'k3/%0'-2" (6081-T6 ALLOY) W/ Med el SA N ~5" Alurm, AN | Y
n Mm Chndt sl anaie 7, (4) 1/4%0x1" TEK SCREW TO HEADER & / % ?/x;'; ﬁﬁffosoiTArgmHmof';E&w/ " : | ST SPLI RoLL UP MULLIONS &
| 2 1) /2% KWK BOLT TZ W/ 3 1/4" " i [~2"= | TRACKS W/ FACE MOUNT.
& | e L | (2) 3/8 KWK BOLT TZ W/ 2" Min. friv |
1 IRINY/B% 02" (6061-T6 ALLOY) Alum, ANGLE AT . EMBEDMENT TO WALL, I '
SINGLE SPAN & 3°%3'¥3/8°%0'~4" (8061-T8 ALLOY) USE 2"%7'%1,/4"%0'=5" Atum. ANGLES | i
g 7 I Alum. ANGLE AT MULTIPLE SPAN W/ (1) 1/2"¢ THRU 4 Q)OR @ FOR CASES W/ 3" BUILO-OUT TUBE, | 1
8 EXISTING GLASS I\l BOLT AT SINGLE SPAN & (2) 1/2°0 THRU BOLTS AT EXISTING GLASS —| | I
MULTIPLE SPAN. USE 7/8" Q.0x V2" THIGK WASHER I |
é s M ALTERNATIV, N OLIG)
g [ E:2 I | oR
: ALTERNATIVE :1 WALL MOUNTING : SECTION W-W(3) ' /\, '
0/4 OR R/ | 0/4 OR R/4 WALL MOUNTING : SECTION W-W (3) SCALE : 1/8" = 1" | /\J l
i o .
v | ¥ SCULE : 178" = 1 NOTE: VALID FOR ALL SPANS AND A.S.D. LOAD COMBINATIONS. ! :
] \_@ oR ® NOTE: VALID FOR ALL SPANS AND A.5.D. LOAD COMBINATIONS. | |
O@=@®— o
\ I
| |
- (2) 3/8" THRU BOLTS o
(. TP & BOTIOM) : | \® @ @
o ol
i / l o900
= \ POURED GONCRETE #, 1%1°%1,/8"CCONT. ALUM ANGLE
4" MiN. THICKNESS b
\\\\\‘\\\ REQUIRED \\\\\\é\ g/ ’ ;/”40;#51/2 TEK SCREW
g ol .C.

4.500" Min, Typ.

|
A .‘l_ I
L1
3 |32
FLOOR/CEILING MOUNTING : ®p~—— 8 :
- | | 1| 2'wz%t/4%0°—6" (6061-T6 ALLOY) Alum.
SECTION W-W (1), W/O HEADER 12 12 nl - 5.000" - = POURED CONGRETE :.w 'T I ANGLE é‘A.uSIQE w} {2) 5/16% TA)PC(;N XL
§...E...CTI ON W-W (2), W/HEADER r‘ ! 3.000" N W/ 4" MIN. THICKNESS \' AN ‘ g{oék rgg P‘gﬂkgaM%%Di\%%vErrEmWAﬁfvﬁwﬂf
SCALE : 1/8" = 1" & g R O remaieTE USE (2) 3/8"6 KWIK BOLT TZ W/ 2" Min.
= | FE———= === === ' , EMBEDMENT TO POURED CONGRETE WALL
| '8 ! h [ SEE NOTE 1. (4" MIN., THICK)
L = 8 Ermmm— i —:——l—— USE (2) 3/8" THRU BOLTS TO MULLION
————— T ol @ @0R® T° VO |_® @ OR® WALL MOUNTING : MULLION CONNECTION
@ : : " 3" % 37 ALUMINUM ANGLE | : (2) 2%4%1/4%0'=5" Aum. ANGLE WA : {EXTENDED PASSED GPENING) AT TOP & BOTTOM : SECTION W-W (1)
| i i [ {4) 1/4'0 THRY BOLT TO HEADER & | SCALE : 1/8" = 1*
Il I " (2) 3/8" KWK BOLT 1Z W/ 2" Min. I ,
B I Loy EMBEDMENT TO WALL. - PRODUCT REVISED
1 [ ox(P) USE 2"%7°%1,/4’%0'=5" Alum. ANGLES ! ox(P) NOTE 1 08 complying with the Flovids
| [ . ? FOR CASES W/ 3" BUILD-OUT TUBE. EXISTING WALL MAY CONCRETE BLOCK FOR A5.D. DESIGN PRESSURE RATING UP ling Code
| I TO 130.0 paf W/ 4'~0° Max. MULLION SPAN AND 4'-0" Max. MULLION
| 1 SPACING AND SHALL BE 4" MIN. THICK POURED CONCRETE FOR ALL GREATER
(R - MULLION SPAN AND LOAD COMBINATIONS.
S #‘ - ELEVATION/X1
| SCALE : 1/8" = 1"
I |
0@-@- el Lo« :
5 3" AN ANGLE I il: }H Do NI 167 3 FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
|~ i —-A{0)or . N H v 13 ]
!__:]I_:_ ﬂ: //\’ TYPICAL HEA__D__ER CONNECTION AT ENDS: ; . NO- E * § @2012 HLTECO, INC, RLL"‘4 SLAT ROLL'—UP SHU?TER tzﬁ?ﬁiﬁgY
SECTIONS W-W 1= e
19, ? xAGS | | ROLLAC SHUTTERS OF TEXAS, INC.| o/
ELEVATION/)A Y ’9 L/f \\‘ IL E c o INC. 5331 ORANGE STREET ’ i
e g ‘=:=_ TILLIT TESTING & ENGINEERING COMPANY PEARLAND, TX. 77581
SCALE': 1/8% = 1 '-,, ‘9 S TONAL (’,\§ ',l' O O olad i 5as ot + (Somgaietaat o PHONE: (800) B80-0922, FAX: (281) 485-0839 12-038
S trr4ss ””ﬂ o _magei'gggggfg l.com REV. Wo | _ DESCRIPHION BaATE_ | Rav. e GESCRFTION ATE DRAWING No
. . PE OLD 08— 123 Joz/17/12] 3
e Lo 44167 : : SHEET & OF 13




1/4°0 LAG SCREWS @ EA. STUD OR

2" x 4" WOOD STUDS
REQUIRED @ CORNER

}" / / (TYFICAL)
@ 12" O.C. IF Cont. WOOD HEADER -
3 EXISTING AT THIS LOCATION, s S S S S N NN\ NN\ N
3 | ——] /
T 1" x 2" x 1/8" Cont. = s . ] |
/ Alum. ANGLE .
“ —_‘_. .‘..
= = [ e o //
N 250" '*“ 2.000" | —
— . i ‘ i fl -
1
N
| e—
, Tk || R R A e Y
¢ e <
WOOD HEADER £ 1/4"8 LAG SCREWS @ 6" 0. C. W/
REQUIRED 1 1/2" Min. THREADED PENETRATION 2" » 47 sTUDS
e s 10 EXISTING WOOD STUD.
i Q=@ o
i \—@ o (P) x P
PLAN A (SECTION) -
SCALE : 3/8" = 1* / / / /
SEE SHEET 10 OF 13 % i
For Mr’g g&?SRATION 7 o 2" x 4" WOOD STUDS REQUIRED :
@ CORNER (TYPICAL) T
L/ 1/4" LAG SCREWS @ & 1/2" 0. C. ] oo
W/ 1 1/2" Min. THREADED PENETRATION pum——— o
/ % TO EXISTING WOOD STUD.
— 1/48 x 3/4" TEK SCREW @ 6" 0. C. //”,,’:/‘/
— 1A / ' 2" x 4" WOOD STUDS
.‘ =10 2" x 2" x .125” Cont. ALUM. ANGLE ' REQUIRED @ CORNER
,‘ ] R STrCSEa (TYPICAL)
/ 5% o ™ N 0 /4" LAG SCREWS @ 6" 0. C. W/
. A : FQ-—~=—EQ— i 1,/2" Min. THREADED PENETRATION
EXISTING GLASS | 8§ “asasa TO EXISTING WOOD STUD.
o @_/
@@ X :
; '.!_A_' '\ aate
. . = /4" \@ OR ® 1/4% x 3/4"
MAX TEK SGREW @ 8" 0, C. ——mowo
2
Ln
L B TIC7)_ Sese o) PROBUCT REVISED
1/4" as complying with the Plosid
SCALE : 3/8" = 1” @ or(F MAX Budiding y(’:mn,“.W“M‘e
1" x 2" x .062" Cont. : Avceptance No A
Alum. ANGLE C N Expination 3
1/4°0 LAG SCREWS T BUILD~0UT By
g © £o. STUD - to0,, SCALE : 3/8" = 1" M Product Conitrol
1 'f' “’o‘
— woop  STUD NOTES: o \3?,\31.5:'77[(/)9,%
Sy O MAX o\ P NCENR e Y & FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
T e s s e e | S WOENSE B
80.0 ps ] . 3 = ©2012 TILTECO, INC. DRAWN BY:
2. FOR NEW FRAME CONSTRUCTION: WOGD MEMBER TO BE SOUTHERN PINE No. 2 3 RLL—4 SLAT ROLL—UP SHUTTER L6./AG.
‘ 5 . W
WALL MOUNTING INSTALLATION W/ SPEGIFIC DENSITY OF 0.55 OR FQUAL. L2 3
G NDITION T o 3 ROLLAC SHUTTERS OF TEXAS, INC.| °/1/12
.. gﬁf’éﬁ/— s INC. 5331 ORANGE STREET el
wrs Lo A S § | T Eeee, cowa, P o, 1% 77581 12-038
% /?(stﬂﬁ ﬁ)?‘.--' Qg;(/ o Phona : (S35)871=183G . Fax ¢ (305)871-1531 PHONE: (800} 880-0922, FAX: (281) 485-0839
=, &S/dﬁ}iirﬁ QS‘,,.“ e~moll, titecogaal.cam (T I T N N T A
“o, } WALTER A, TILLIT Jr. P.E. 1 oL 09-123 102/17/12) ¥
"”on”mm"" FLORIDA Lic. # 44167 2 7 SHEET 9 oOF 13




SLAT PERFORMANCE CHART

MAXIMUM NEGATIVE A.S.D. DESIGN PRESSURE RATING (p. s. ) AND

CORRESPONDING MAXIMUM SLAT SPAN "L" FOR TYPE 1 SLAT

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE A.S.D. LOAD)

TYPE 1 SLAT
RLL—4
MAXIMUM
AS.D. | MAXIMUM | MINIMUM SIDE RAIL CONDITIONS FOR TYPE 1 SLAT
pesiey | ST SEPARATION
| SPAN TO GLASS NOTE:
PRESSURE] TYPE 1 SLAT SHALL ONLY BE USED IN CONJUN??ON WiTH TYPE
RATING | sivoie SINGLE 1 SIDE RALS FOR MAXMUM SLAT SPAN OF 60, AND A MAXIMUM A.S.0.
& & DESIGN PRESSURE RATING OF 120 p.s.
(p.s.f.) MULTIPLE USE TYPE 2 SIDE RAIL FOR ANY SEAT S‘PAN OR AS.D. DESIGN PRESSURE
MULTIPLE UNIT RATING INDICATED ON SCHEDULES.
UNIT
¥* R
40.0 6-0" | 3 37167 3"
45.0 5-11" | 3 3/16" 3"
50.0 5-8" | 3 3/16" 3"
TABLE 1: ser nore geLow. o
55.0 5-6" | 3 3/16"] 3"
60.0 5'-¢4" | 3 3718 3"
SLAT SPAN (ft.) MINIMUM SEPARATION TO GLASS 65.0 5-2" | 3 3/16" 3" I —
I P R = 2 - - =]
60" OR LESS 3" il - 3318 3 o fu =]
> 60" 10 72" 3 3/16" 75.0 411" 3" |3 e
80.0 4:_ 10» 3» J" E [ m] [m] —__I]
NOTE: MINIMUM SEPARATION TO GLASS FOR SINGLE AND MULTIPLE UNITS 85.0 4'-9” 3 |3 R — o b
SHALL BE MEASURED FROM BACK OF SLAT TO GLASS. ——
90.0 " o = = E L ]
- PPLICABLE
NOT APPLICAR 95.0 4'-7" 313 H
* MINIMUM SEPARATION TO GLASS FOR SHUTTERS INSTALLED WITHIN
THE FIRST 30' ELEVATION OF BUILDING MEASURED AT BOTTOM OF 100.0 4" 3 |3
SHUTTER AND MAXHAUM SPAN. SINGLE SPAN MULTIPLE SPAN
SEE TABLE 1 FOR MINIMUM SEPARATION TO GLASS FOR SPANS 105.0 45" 3% § g
SHORTER THAN MAXIMUM ALLOWED.
w MINIMUM SEPARATION TO GLASS FOR SHUTTERS INSTALLED ABOVE 110.0 4'-4" 3" 13 SPAN LAYOUT
30" ELEVATION OF BUILDING MEASURED AT BOTTOM OF SHUTTER.
115.0 4'-4" 3" 3"
120.0 4'-3" 3" 3"
125.0 42" 3 |3
130.0 4'-2" 3" 3
135.0 41" 3" 3"
140.0 4'-0" 3" " _
3 PRODUCT REVISED
145.0 4'—p" 3" 3" as somplying with the Florida
Building Code
150.0 311" 3" 3" AW‘MWN" ~03(%, ('
155.0 3—11" 3" 3" ' 3192y,
o '«'—‘)‘ A. T’Z( i,
t60.0 | 3'-10” 3" 13" W P e, L 5
' ] n " \‘ & \G ENS i ., ‘::n
165.0. | 3'-10 3 3 N e D 3
on . " § .'" NO 4 41 6 KR
700 | 3-8 S Y ok 67 % 3 FLORIDA BUILDING CODE (High Velacity Hurricane Zone)
175.0 3'-9" 3" 3" Ly S ¥* 3 ©2012 TILTECO, INC. DRAWN BY:
3T $ ' RLL—4 SIAT ROLL—-UP SHUTTER L.6./AG.
’80.0 3.-—8" ‘3” Jll ‘“W h .1%% ‘\
EY )
T < AORIDR. / TiLlEco \ ROLLAC SHUTTERS OF TEXAS, INC.| /7w
180.0 3'-8" 3" 3" “"’f, IONAL E\\ i"’ TILLIT TESTING & ENGINEERING CO.;A'PANY 5331 ORANGE STRCET
) - s, L PEARLAND, TX. 77581 _
“recsoss? Sl VLR S el I T PHONE: (800) 880-0922, FAX: (281) 485-0839 12--038
195.0 3'-7" 3" 3" e—maga_tfggsggfg.ﬂcom FEV. No | OESCRIPTION DATE | REV. Ma DESCRIFTION DATE DRAVING No
WALTER A. THLT Jr. P.E. T_|oLo 09-123 loz717/12| 3
FLORIDA Lie. # 34167 Py Y SHEET 10 OF 13




STORM _BAR [ OADING CHART MAXIMUM A.S.D. DESIGN PRESSURE RATING (p. s. f.) AND CORRESPONDING
MAXIMUM SPAN "L” FOR A GIVEN TYPE OF STORM BAR AND STORM BAR SPACING.

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE A.S.D. LOAD)

M:)g%UM . TYPE 1 .S;TORM RA}: TY.:E 2 S:I'ORM BA.‘: TYF:E ki S,TURM 34-‘: @ TYPE 4 STORM BAR
DESIGN 2T x 4T /4 2"x 4% x 1/8 2"x 3" x 1/8 RLL-15 + RLL~16
PRESSURE *  STORM BAR SPACING * STORM BAR SPACING *  STORM BAR SPACING ¥ STORM BAR SPACING
FATING
(pst) Tcs—0" [sro¢[+rm5 55106 |c<3-0"| 3044|4705 5T06 | 3-0"| Fro«+ | 4705|5008 | g3-0"| 30| ¢T105]|5 1086
TEER | 100" | 100" | 100" | 100" 9'-0" 9'-0" g=0" | &-11" | &-0" g-0" | g-0r | 7-5 56" | 56" | 52 4'-8"
35.0 100" { 10'-0" | 10°-0" | 10’-0" 9'-0" 9'-0" 9'-0" §-3" 8'-0" 8'-0" 7'-5" 69" 5'-6" 5'-¢" 4'-9" 4'-q"
40.0 10'~0" 10'-0" 10°-0" 9'-11" 9'-0" 9'-0" 8'-6" 7'-g" 8'-0" 7’9" &'~11" 6'-4" 5'-g" 5-0" 4'-5" -1
45.0 10"-0" ¢ 10'-0" | 10'-0" | 9'-8" g'-0" | &-11" | &-0" 7'-4" 8'-0" 7'-3" 6'-6" | 5-11" 5'-5" 48" 4'-2" 3-10"
50.0 10-0" { 10-0" | 9'-19" 9'-3" 9'-0" 8'-6" 7'-7" 611" 8'-0" 6~11" | 6-2" 5'-8" 5'-2" 4~5" 4'-0" 3'-8"
55.0 to'-o” 0’0" 9'-7" a'-10” 9'-0" &-1" 7'-3" &-7" 77" 6-7" 5'-11" 5'-5" 4'-71" 4'-3" 3'~g” 3'-6"
80.0 10°-0" g'=11" 9'-3" 8'-5" 811" 7'-g” g-11" &-4" 7'-3" 6'-4" 5'-8" 52" 4'-8" =" 38" 3'-4”
65.0 10°'-0” g'-g" g-11" | &-1" g'-7" 7-5" 6'-8" &'-1" 7'-0" 61" 5'-5" 4-11" 4'-6" J'-11" 3'-6” 3'-2"
70.0 10°-¢" g'-7" 8'-7" 7'—t10" 8'-3" 7-2" 6'-5" 5'-10" &'-g" 5'-10" 5'-3" 4'-9" 4'-4" 3-9" 3'-4¢” g1
75.0 10°-0" 9'-3" §'3" 77" 8'-0”" 6'=11" &—-2" 5'-8" 6'-6" 5'-8" 51" 4-7" 4’2" 3'-8" 3'-3" 3'-0"
80.0 =t | 8—11" | &-0" -4 7'-g" 6'~9" 6'-0" 5'-6" 6’4" 58" 4'~11" 4'-6" 41" 3'-6" 32" 2'-10"
85.0 g'-10" &'-g" 7'-9" 7'-1" 7’8" 6'-6" 5-10" 5'-4” &-1" 5'-4" 4'-9” 44" I 3-5" 3'- 2’9"
90.0 9'-8" g-5" 7=7" | &=11” 7’4" 64" 5'-8" 5-2" 1 §-11" | 5-2" 4'-7" 4'-2" 3-10" | 3-4" 3'-0" 2'-8"
95.0 g'-6" 8'-3" 7'-4" &'~8" 7-1" 6-2" 5'-6" 5'-0" 5'-g" 5'-0" #'-6" 41 3-9” F-3" 2'-11" 2-g"
100.0 9'-3" 8'-0" 7-2" 6'-6" 6—11" §'-0" 5'=4" 4—11" 5'-8" 4'—1t" 4'~4" 40" 3-8" 32" 2-190” 2-7"
105.0 §-0" | 7~10" | 7'-0" 6'-5" 6'-9" 5-10" | 5-3" 4'-g” 5'~6" 4'-9” £-3" | 3y | 36" 3'-1" 2'-9" 2'-6"
110.0 g'-10" 7'-8" &'-10" §'-3" §'=7" 5'-9" 5 4'-8" 5'-5" 4’-8" 4-2" 3'-10" 3'-6" 3'-0" 2'-8" 2'-5"
115.0 8'-7" 7’8" 6'-8" 61" 6’6" 5'-7" 50" 4-7" 5'-3" 4'-7" -1 3'-g" 3'-5" 2-11" | 2'-7" 2'~5"
120.0 8'-5" 7'-q” 6'-6" &-0" §'-4" 5'-8" 4—11" 4'~6" 52" 4’6" 4-0" 3-8" 3'-4” 2'-10" 2-7" 2'-4"
125.0 8'-3" 7'-2" 6'-5" 5'-10" 6'-2" 5-4" 4'~10" 45" 51" 4'-4" J'—11" 3-7" 33" 2'-10" 2'~g" 2’4"
130.0 a&-1 7=0" 6'-3" | . 5-9" &'-1" 5-3" 4'-g" 4—¢" | 41 4'-3" 3'-10" 3'-6” 3-2" 2'-9" 2’6" 2'-3"
135.0 7-11" 6—11" §'-2" 5'-8" &6-0" g5-2" 47" 4'-3" 4—10" 42" 3'-g" 3'-5" 3'-1" 2'-g" 2’5" 2'-2"
140.0 7'—10" 6'-9" 6'-1" 5'-6" 5'-10° 5—1" 46" 4'-z" 4'-g" 42" 38" 3—4" 31" 2'-g" 2’5" 2'-2"
145.0 7'-8" 6-8" 5'-11" 5'-5" 5'-9" 5'-0" 4'-6" 4'-1" 4'-8" 4'=1" 3'-8" 3-4" 3'-0" 2'=-7" 2'-4" 2'-2"
150.0 77" 6'-6" 5'-10" 54" 5'-8" 4'=11" 4'-5" 4'-0" 47" 4'-0" 37" 3'-3" J'-0" 2'-7" 2'~4" 2~y
155.0 7'-5" 6'-5" 5'-g" 5-3" §'-7" 4'-10" 4'-4" 17" 4'-6" 3-11" 3'-6" 3'-2" 2-11" 2'-g" 2'-3" 2’1"
160.0 7'—4" §'q” 5'-8" §'-2" 5'-6" 4-g" 4-3" 311" 4'-6" 3'-10" 3'-5" 32" 2'~10" 2'-6" 2'-3" 2'-0”
165.0 7'-2" 6'-3" 57" 5'-1" 5'-5" +'-8" 42" 310" 4'-5" 3'-10" J-5" 3 2'=10" 2'-5" 22" 2'-0” PRODUCT REVISED
170.0 7-1" | 62" s-6" | s-0" | &-4" | -7 41" | 39" v-qm | F3-om | -4 | 3-1v 2-g" { 25" | 2-2" | 2-¢” by dmmm“'m
175.0 7'-0" g-1" 5'-5" =11 5'-3" 4-8" 4'— 3'-8" 4'-3" 3'-8" 3'-4¢” 3'-0" 2'-g" 2'-5" 2'-1" 1-11" Acceptance No
180.0 6-11" 60" 5'—q” 4'-10" 52" 4°-8" 4'-0" 3'-g” ¢'-2" 3’8" J3'-3" 3'-0" 2'-g8" 2'-4" 21" 1'-11" B poe 3
185.0 6'-10" 511" | §-3" 4'-10" §-1" 4'-5" 3—11" 3-7" 4'-2" F-7" J-3" 211" 2'-g" 2'-4" 2'-1" 1'—11" E,’ : Product
1590.0 6'-8" 5-10" 5'-z2" 4'~g” 5-g" +'—4" 3'-11" 3-7" 4'-1" 3-7" 32 2-11" 2'-g" 2'-3" 2'-g" 1—10"
1950 | 6-7" | &-g* | s-2 #-g" | 50" | =4 | 3-10" | 36" | 4-0" | g6 | 32" | 2-104"E G Heeg s | 220" | 1-10”
t X% < FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
s Y ©2012 TLTECO, NC. RLL—4 SLAT ROLL—UP SHUTTER| o%wi v
* STORM BAR SPACING SHALL BE SUCH THAT MAXIMUM SIAT SPAN SHALL NOT BE EXCEEDED. N ‘:'i oy
§ 4 3 / ||L|E CO . \ ROLLAC SHUTTERS OF TEXAS, INC.| *V/
§ -" § TILLIT TESTING & ENGINEERING COMPANY o CRaNGE STREET
kY ‘2,78 ﬁFl/"aS-' § O R I ShieSi 305 VA Saoets, 1, Sstes PHONE: (300) 8800625 TEk (2a1) 485-0839 12038
‘-:.:' OA\ l..'{.l ?‘"..'\\%9“\\ e-maf.fg_tfgggggﬁgl -eem eV, Ko QESCRIFTION DATE REV. Ho DESCRIPTION DATE DRAWING No
= S o BT 15 e i G weer 11 00 13
',, e Tal [ Lid

Srtrrassrtt!




HEADER [ OADING CHART
MAXIMUM A.S.D. DESIGN PRESSURE RATING (p. s. f.) AND CORRESPONDING MAXIMUM

SPAN “L" (Ft.) FOR A GIVEN TYPE OF HEADER AND STORM BAR HEIGHT (Ft.).
(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE A.S.D. LOAD)

MAXIMUM TYPE 1 HEADER TYPE 2 HEADER TYPE 3 HEADER
;ég}giv 2" x 4" X 1/4" 2" x 4" X 1/8" " x 4" X 1/8"
PRESSURE STORM BAR HEIGHT STORM AR HEIGHT STORM BAR HEIGHT

RATING -

(p.s:1) < 7'-0" 7109 9' 10 10° < 50" 5' 10 8 < 5-0" 5'70 7'

J00.% 15'=1" 14'-0" 13'-2" C12'-0" 11°-2" 7-1" 6'—6"
35.0 14'~9" 13'-0" 12'~4" 12'-0" 104" 7'—1" 6'-6"
40.0 13'~-g" 12'-2" 11'-6" 12'-0" 9'-8" 7—1" 6'—6"
45.0 13'-0" 11'-5" 10'-10" 11°-8" 9'~1" 71" 6'-4"
50.0 12'—4" 10°-10" 10'~4" i0-11" 8'-8" 7'=1" 6'-0"
55.0 11'-g" 10'-4" g—10" 10°-5" 8'-3" g'-10" 5'-g"
60.0 11'-3" 9'—11" 9'-5" 10'-0” 7-11" 6'-6" 5'-6"
65.0 10'~10" 9'~6" 9’-0" g'7" 77" 6'-3" 5'-4”
70.0 10'-5" 9'-2" g'-8" 9'~3" 7'—4" 60" 51"
75.0 10'-1" 8'-10" 8'-5" 811" 7'=1" 5~10" 4—11"
80.0 9'-9" 8-7" 8'-2" &'-8" 6'-10" 5'-8" 4-9"
85.0 9'=5" 8'—4" 7'-11" g'-5" 6’7" 5'-6" 4'-8"
§0.0 T g—i" 7'-8" 8'~2" 6'-5" 5'~4" 4'-g"
95.0 8'-11" 7'—1t1" 7'-6" 7'=11" 6'-3" 5-2" 4’5"

100.0 8'-8" 7'-8" 7'-3" 7'-9" 6'—1" 51" 4'-3"
105.0 8'-6" 7'—-6" 71" 7'-6" 6'-0" 411" 4’2"

110.0 8'—4" 7'—4" 6'~11" 7'—4" 5'-10" 4'-10" 41"

115.0 8'—1" 7-2" 6'-9" 7'-2" 5'-8" 4'-g" 4'-0"
120.0 711" 7' —0" 6'-8" 7'-1" 57" 4'-7" 3-11"
125.0 7'-g" 6'-10" &'-8" 6'~1t" 5'-6" 4'-8" 3'-10"
130.0 7'-8" 6'-g" 6'-5" 6'-g" 5'-4" 4'-5" 3'-g"

135.0 76" &'-7" 63" 6'-8" 53" 4'—q" 3'-8"
140.0 7'-4” 6'-6" 6'-2" 6’6" 5-2" 4'-3" 37" PRODUCT miylSEDm
145.0 7'-3" 6'-5" 6'—1" 6'-5" 5'—1" 4=2" 27" &m&“t -1
150.0 7'-1" 6'-3" 511" 6’4" 5'-0" 4'-2" 3—6" Aggwmm : 3
155.0 7'-0" 62" 5'-10” g'-2" 4'—11" 4'—1" 3'-5" LT By

160.0 611" 6'=1" 59" 61" 410" 40" 35" o '\?_“ﬁ”n[(/;"% M e Product Goner
165.0 6'-9" 6'-0" 5'-8" 6'-0" 49" 311" 3'-4" 3 & '\';\'(Z.El\llgll(~ "o’p‘;"g_
170.0 &'-8" 511" 5'-7" 5'—11" 4'-8" 311" J'-3" §\ %ﬂ% "::; FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
175.0 6'-7" 5'-10" 5'-6" 5'-10" 47" 3'~10" 3'-3" § ﬂ't".f * § ©2012 TLTECO, INC. RLL—4 SIAT ROLL—UP SHUTTER fR;far:w
180.0 6'-6" 5'-g" 5'-5" 5'-9" 4’-7" 39" 3’2" "-";';% %\ﬁ? ,-‘:q:- § ———
185.0 5'—-5" 5'—8" 5'—4" 5'-8" 4'-g" 3'—g" 3'—g® ‘:_i ‘%;;‘-'.‘,ZDR|D?‘_.-'.;§:/‘J‘\“\ / I'LIE c o INC. \ ROLLAC SH[{SLTJ'E;@.EGE?!:EETTEXAS, INC. 02{);;;12
180.0 —4” g 3" 7" 4'-5" g g =, Oy e G ot NGINEE'RING COMPANY

W/;liggfof L’T‘.:rt,t.;g' j;mPE !r OLD 09-123 162/17/12 : SHEET 12 OF 13




D

/ CHART

Si

P

7

CORRESPONDING MAXIMUM SPAN °L” (Ft) FOR A GIVEN TYPE OF

MULLION AND MULLION SPACING (Ft.).

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE A.S.D. LOAD)

2—. FOR MULLIONS INSTALLED VW./ STORM BARS & HEADERS
MAXIMUM
AS.D. TYPE 1 MULLION TYRE R MUELON TYPE 3 MULLION A) MULLION SPACING SHALL BE SUCH THAT MAXIMUM HEADER SPAN SHALL NOT BE EXCEEDED.
4" x 6" x 3/16" 2"x 3" x 1/8"
DESIGN
PRESSURE B) STORM BAR SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED.
RATING MULLION SPACING MULLION SPACING MULLION SPACING
(p.s‘f.) [ " r ? . 1 ’ " L4 : ’ * 2 »n ’ ’ ! El
g 4-0"{4' 10515 T08 s 4-0"|¢4T05|5T08)s3-0"|FT04¢|4T05
3000k | 170" | 12-0" | 120" | 9-0" | 90" | 8~10" | 710" | 72" | 6-7" SIDE _RAILS (Q) & (P) ANCHOR SPACING SCHEDULE: *
35.0 12'-0" | tz>-0” | 120" | 9’0" g'—0" | 82" 7'-5" 69" 6'-3"
40.0 12'-0 12'—p" 12°-0" | 8-10" g'-0" 7'-8" 7=-2" &'-8" &'-0" MAXIMUM A.S.D. DESIGN PRESSURE FATING ('D.S. f)
45.0 120" 12°-0" 120" 8'-4" 9'-0" 7'=3" | 6'~-10" 8'-3" 5'-g” FOR ggNgEC;EI'Ong%KPOURED ggggETE
50.0 120" | 12’-¢” | 12’~0" } 7-10" | 8-8" | 6'~10" } 6-7" 60" 5'-7" QLMEE——MLL—S—JI&
55.0 122-0" | 120" { 11’-6" 7-6" | &8-3" 6'-6" |} 6-5" | 5-10" | 5-5"
60.0 72‘—0" 72J_0” 7’:_011 7'_2" 7;_1:.”: 6"—‘3" 6'—3" 5,"8” 5:_3u MAXIMUM SLA T TYPE 7 ( @ )
65.0 120" | 120" { 107" | &-11"| 77" | 0" | 6—1" | 5-6" | s5-1" A.S.D. (RLL—4)
70.0 11'—g” | 122-0" | 102" | 6'-8" | 7'-¢" 5-9" | 5'-11" | 54" 5'-0" ngg?gﬁg SUBSTRATE © (RLL-25) ® (RLL—40)
75.0 11-4" | 12=0" | 910" | €-5" | r-1"| 5-7"| 5-9 5-3" | 4-11" RATING SIDE RAIL SIDE RAIL
it n” __pu 1_‘3" L u L -2 __pn L L g .S.f. — "
80.0 11'-0 12°-0 9’'-6 6 6'-10 EJ 5' 5-8 5=z 4°-g (P ) WALl MOUNT ﬂg&ﬁr&; B%%%N?'UT WALL MOUNT A%;(j?ﬁ- B[#,’;I_O%N?UT
85.0 10'—8” 71'—8” 9‘-—-‘3” 6'—'0” 5'—8" 5 _3 5)_71 51_0” 4""'8"
90.0 10._4, 11,_‘5,, 9._0,, 5,__.70,,. 6;_5n 5;._, 5;_-5. 4;__11" 4'_7" 80 OR LESS C. BLOCK 4 1/2 4 ?/2 6” 5” 4)-; 6"
95.0 101" | 11-1" | -9 | 5-9 6'-3" | 5'-0" | 54 4107 | 46 CONCRETE 6" 6” 6" 6" 6” 6"
100.0 9'-10 10'-10"| 8-6" 57" 6'-1" | 4~10" | 53 4'—9" 4'—5"
105.0 9,_7, 10’—6” 81_4’1 5,_5” 61_011 4,_9,, 5D__2u 4'_8" 41_451 >8O TO 120 C. BLOCK .3 3 ?‘/2 6 3 1/2 ,3 6
110.0 9'~q4” | 10°-3" | 8-2" | g4 | 5-10" | 47 | 51" 4=7" 4-2" CONCRETE 6" 6" 6" 8" 6" 6"
115.0 9'~-2" to'—1" | 7=117 ] 52" | 5-9" a—" | 5-0" 4-7" 4'—1"
" g . e P . o o . BLOCK NAA N/A N/AA " N/A 5 1/2"
120.0 g=11"| g'-10"| 7-9 5'-1 5-7 4'-5" | 411 4'-6 4’0" S120 TO 150 ¢ 5 & / / ’ / /
125.0 8-9" | g-g" | 7-8" | 50" | 56" | g4 | 4-11"| 45" | 3-g¢” CONCRETEY|  N/A N/A N/A 6" 6" 6"
130.0 8'—7" 9:_6:) 7""“6" 4n_11” 5:_‘4u 4-_31r 41_10” 4’_4” 31_10" N
T " — — C. BLOCK N/A N/A N/A N/A N/A 4 1/2
135.0 &8-5 g'-3" 7—4 4'-9” | 53 4-2" 4'-9" -3 3'-9" S150 TO 195
140.0 §-3" | g=-1" | 7-3" | «4¢-8" | 5-2" 4'=7 4'-8" | 4-2" | 39" CONCRETE N/A N/A N/A 6" 5" 6" DUCT REVIS
" m C ED
145.0 8'-2 g0 | 7-1" | 4—y | 5=1" | -0 48" | 41" | 3-8 2 complying with te Floride
0" | a-10" Pr * ) M_AN PACING (in.) AT SIDE Aaldiog Code
150.0 8-0 8—-10 7'—0" 4'—7" 5" 3'—11 g'—7" 4'—p" 37 _MAX/MU A CHOR S in. Acceptance No A
i o e o oo RAILS VERSUS EDGE DISTANCE = E.D. Expissti ;
155.0 7—11 8-8 6’10 4'—g" 411" | 3—11 4'—6" 311 36"
’ ” 8’— 6 " 6 ’—9 » H " ’ » ' ” ! " ! b ' ” B’:
e T i i R B, B T i e AXIMUM ANCHOR SPACING ARE M Product Costrol
1690 | 7787 | 970 | 68" | 4-4r | 49" | giogr | 4-57 | I-10"] 5 WSER A Tl Loumiip FOR 3" EDGE DISTANCE.
170.0 7'-6" 8'-3" g'-7" 4'-3" 4'-8" J'—g" 4'—4" 3'-g" J'-5" ‘\“&V_. """"""" o FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
+ " ' ” ! » : " ’ H ’ ” ' ” + " ) » N '.. ..l
175.0 7'=5 §'-2 &6-5 4'3 4'-8 3-8 4'—4 3'-9 3'—4 s\ s ©2012 TILTECO, INC. RLL_4 SIAT ROLL—UP SHU]TER if?;ﬁ!:aﬁY
180.0 7'—4" | 81" | 64" | g2 | g7 | oy} -3 | -5 | -3 I % ) ;
o T oo o T e T o e s R D < / il ECO ne \ ROLLAC SHUTTERS OF TEXAS, INC.| °¥/v
-~ - - = £ 27 = e 2= ‘: ;. 9% ':‘f.(,; TILLIT TESTING & ENGINEERING CO;M'PANY 5931 ORANGE STREET
N » ) " L L ” 3 n ) » ) » » 1 ’ ” - *y _'. . PEARLAND, TX. 77581
0 Yo | zmien | e | aor | #st | s | 42t | 57t | oz -_%92? ORIDR. o35 1, 00 s i I SRS 3500 e ooy ampeuess, aon coor) 4a5-0scs 12-038
3 ” 1 " 4 ” ) " 1 mn ) » ’ ' ’ n e’ M TTTYE N - i: b \ ¢
195.0 7=0 7'~9 &'~1 4’0 4’'=5 J3-5" 4'~1 J=-8 3'-2 -~ SIONA‘s E$Q) ..“ e mogaf’gggggfg" com REV. Mo u:scmpzoﬂ DATE nzv‘.,m DESCRIFTION PATE
. o WALTER A, TILLT Jr. P.E i 100 09-125 j02/17/12 SHEET 13 OF 13
“ersgyypait?!! FLORIDA Lic. #f 44167 ; 7

NOTES -

I— FOR MULLIONS INSTALLED W/0 STORM BARS

A) MULLION SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED.

REFER TO ELEVATIONS ON SHEET 1A OF 13.




